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5 2 5 Z Zer ] Z -1l
| BB FHIEEEHE 22— | 1,460 | 1,458 2,918 1,452 | 1,454 | 2,906
2| BB HIARENERAAEE | 1,074 | 1,253 | 2,327 1,073 | 1,246 | 2,319
3o UEBaAIa=F1Fk—I 1,329 | 1,487 | 2,816 1,327 | 1,483 | 2,810
4 BRTIHAFR OB 42— 887 969 || 1,856 883 969 || 1,852
5|®RFhiANERAEBE| 1,221 1,241 2,462 1,212 1,239 2,451
6 |pmrmamRT L 2—mAAtE | 2,061 | 2,122 (| 4,183 ] 2,046 | 2,116 | 4,162
TNHOCZHETIY 2,322 | 2,462 | 4,784 | 2,310 | 2,452 || 4,762
8 F4T7 A= 2,219 | 2,401 4,620 2,208 | 2,396 || 4,604
A HVZKNILRER 1,575 | 1,616 3,191 1,564 | 1,605| 3,169
10| RBFHALFERAEEE| 2,026 | 2,202 | 4,228 2,021 | 2,195| 4,216
11 |pmrmamrmatys—gEia@mz| 1,200 | 1,391 2,591) 1,195| 1,381 2,576
12| BBFHEEZEEY&— | 1,822 1,917 3,739 1,810 | 1,906 | 3,716
13| B RmTE—ekaas | 1,887 | 2,027 || 3,914 1,883 | 2,019 | 3,902
14 | X £ & Ffr 791 858 || 1,649 784 853 | 1,637
15| REBEERM 1,407 | 1,581 2,988 1,405| 1,578 2,983
16| BB hrEiFl/NERAEeE | 1,318 | 1,394 2,712 1,314 | 1,389 | 2,703
17 |BmFac BT ResagEt | 1,243 1,355 2,598 1,231 1,350 | 2,581
18| & FHEREy4—2ent| 1,357 | 1,365 2,722 | 1,346 | 1,357 || 2,703
19| XEEBHESR 867 917 || 1,784 864 915 || 1,779
20| REBABARIRE T ERN 1,409 | 1,580 | 2,989 1,404 | 1,574 | 2,978
21 |mmFHuRRTESERAEE | 2,719 | 2,763 (| 5,482 2,703 | 2,742 | 5,445
22|BBFHEREGRIER Y 2—| 2,757 | 2,786 || 5,543 | 2,727 | 2,762 | 5,489
23w rhunmrEoektes | 1,873 | 1,833 | 3,706 1,862 | 1,821 3,683
24 BT H LA ERIABE | 1,907 | 2,005 | 3,912 1,896 | 1,997 | 3,893
25|t & F s e AR 1,231 | 1,353 2,584 | 1,226 | 1,348 | 2,574
26 |mmrmmstta s ERsEsgEz | 1,909 | 2,125 | 4,034 ] 1,898 | 2,117 | 4,015
27| il EXEEFT 1,792 | 1,864 | 3,656 1,778 | 1,855 | 3,633
28R TR A REE 1,183 | 1,238 2,421 1,178 | 1,237 | 2,415
29| HKFpF LR A R 1,805 | 1,864 | 3,669 1,802 | 1,858 | 3,660
30[FHAITEY — AL Z— 1,828 | 1,848]| 3,676 1,816 | 1,837 | 3,653
31| FHFARBERESFT 700 757 | 1,457 697 754 || 1,451
32| AFMBEER 1,160 | 1,276 | 2,436 1,156 | 1,272 | 2,428
33| H®kBTFHftkmE Bt 4—| 1,504 | 1,648 | 3,152 1,500 | 1,643 | 3,143
34| RBF AL ERAESE| 1,032 | 1,090 | 2,122 1,028 | 1,088 2,116
35T HEREY2—3X0E| 1,520 | 1,541 3,061 1,510 | 1,536 | 3,046
= #t (54,395 |57,587 (|111,982] 54,109 [57,344 |[111,453
TESNEZE N EEREEN 55 92 147 55 91 146

= =t 154,450 |57,679 (|112,129] 54,164 |[57,435 [[111,599




